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Conversation 3

- ofe : 1 oA H HO?

Hayun : What did you do yesterday”

- BE Y oA XS HD e 0]

Minjun : | had dinner at home with a friend and watched a movie.

- St T O F3gt 2017

Hayun : Really”? Which movie did you watch.



Conversation 3
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Minjun : | watched an action movie that robbers took citizens as hostages and
steal money, but it wasn’t as good as | thought.

512 : JPLEL HE TIUR0f?

Hayun . | see. How was the meal”

Minjun : It was really delicious. | will cook it next time.



Conversation 3

. ot& L A & 3H0{?

Hayun : What did you do yesterday”

- BlE Y oA MY S Set 20

Minjun : | had dinner at home with a friend and watched a movie.

. 5t TN OfE Pt £0q7

Hayun : Really”? Which movie did you watch.



Conversation 3

017 ; YEo ABISS QIR TD TEAsH M HslS Hr| MZiErt Hag

Minjun : | watched an action movie that robbers took citizens as hostages and
steal money, but it wasn’t as good as | thought.

Situation + =8| + sentences
this sentences uses to explain, ask, request, suggest
for this situation

ex) Hi 02| otHl 11k? | am hungry, but aren’t you hungry ?
ex) 20| Ci2{2d| & & X|22i? The room is so messy so would you like to clean?



Conversation 3

512 | JPLE WS SHRI210{?

Hayun . | see. How was the meal?

Minjun : It was really delicious. | will cook it next time.



)Ls/ 28 +C =2 L, 2sound +C = E

2) The final consonant has to be sounded among seven consonant
1L.C=20-dO0

= 71 depending on the condition, 2 omission happen for

= 71 + 71 starting = 2
= 71 + other = ™

L
=F 5 14 C = [C
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The pre-final ending /%4

- [Review]
The past tense marker

- Iwo different form depending on which vowel it IS

1. stems end with a bright vowel = $ [af]
ex) Of [a] / @ [o] = U [at]

2. stems end with vowels = i [eot]
ex) 2 [e] /¥ [eo] /O] [I] etc — X [eot]



The pre-final ending /%

7t stem of verb + R% past tense marker + HR speech level ending
7t stem of verb + % " past tense marker = Z¥H 2.

Something did happen in the past + the condition of an action or event
completed

ol &2 [ii ba wa sseo o
came home + | am home now (as a result of the complete action of coming
home)



The Double Past Tense Marker S/

+ The double past tense marker
- Used to do that one (but no longer now)

- Adding % after the Past Tense Marker
ex) AU [eoteot]

o] O
s |atet]
Z7H(EF) [ga da] “go” A at] A [eof] {8 [eoyol= AL [ga sseo sseo yo]
“went (and no longer here)”
2(Ct) [o da] “come” A [at] A [eof] 0|2 [eoyo]= AL [wa sseo sseo yo]

“‘came (and no longer here)”
7t2X|(CH [ga reu chi da] “teach” A [eot] A [eot] Ol [eoyo]= 7IEXN AL [ga reu chyeo sseo sseo yo]
“taught (or used to teach)”

A (L) [it-da] “exsit” A [eof] U [eof] 2 [eoyo]= UUU L [l sseo sseo sseo yo]
“exsited/had (long before)”
or(C}H) [manh da] “many” X at] A [eof] 0|2 [eoyol= EUAUOC L [manh a sseo sseo yo]

“‘was many/much”



7t stem of verb + U past tense marker e double past tense marker + He
speech level ending = ZARAH 2

Q stem of verb + U past tense marker + % double past tense marker + e
speech level ending = HRH2

7I2X] stem of verb + SA past tense marker + e double past tense

marker + HE speech level ending = ZIEMRH L

yh stem of verb + A past tense marker + ' double past tense marker + e
speech level ending= AURRNH2

ot stem of verb + QX past tense marker + % double past tense marker + 01

Q speech level ending = BSURNH 2



Exercise 1. Fill out the blanks with proper answers in Korean

(H © OFOI(H O
= JUN AA 11 EH A AA L
2F [bad] “receive” U ¥, e TUARNNHR

Exercise 2 Change the following sentence into the past and double past sentences.
Hi‘a'H .9. an gyeong i kkae kkeu tae yo]

St A Cr&0| MRANL
NSl o CrE0] HIAANNL



Feature of Double past tense

+makes the past action or situation more remote (back then)
* NO longer relevant to the present activity or situation
+ the past action or situation is totally complete

. HEE| B [hoa leum dal | tteo sseo yol
“The full moon came up”, “The full moon is up”

. HEL| =AU L2 [hoa alum dal | tteo sseo sseo yo

“The full moon was up (back then)”



Exercise 3. Indicate which of the two Korean translations for the English sentence below is correct in case

“(They) used to sell refrigerator inexpensively.”
> HFIE MA EUAO KL [naeng jang go leul ssa ge pal a sseo yo]

> HHEIE WA HURO K [naeng jang go leul ssa ge pal a sseo sseo yo]



0RO
u.rv-:!(!-i:!w Vt‘ RZA

rsare MCCsRGarsesa

s FUORINII%'O

chattare
....,,w?w, PAIURA
VLR Appecoase

oty ARE yuree _ ZUFPONE

TAGGARE -
STIZZAR! wm'm Tmas‘nf‘?ellaq&'n& %

£ 4 “ F/ p
v%’gm il o \iva I?g'l?l gfmguz,\nfa'mv:n

--Jl.‘.t [\ sbirn m-..\. Ghebamu“”
“epato 0 \iviss JACARANDA ZARROY A s

ibba
t-n




Abbreviation Slang

- Eol/ B/ &

I~

= = ELt (|ts swear word start with) F***ing

=2} Freaking
=L OB}/ ELF A/ S2f MG/ EL O|FLIE &L 2

P>| I

‘_
— -

=== IROC
7t ot 2EMA HO| stH 2F When | do it’s Romance, other does it’s cheating

‘_
— 1

=7 no funny L+XH0O

~Z (1 supposed to be)
KHE[ZE (Quitting the School), &&H2E (Fail like lighting speed), A&1Zf (lunch)
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